
Homework 08_4 (Due: 3/31) 
 

1. The binomial random variable X has PMF 
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(1) Find the standard deviation of X. 

(2) Find [ ]X X X XP Xμ σ μ− ≤ ≤ +σ  which is the probability that X is within 

one standard deviation of the expected value. 

(3) Find , where the condition | ( )X BP x { }XB X μ= ≥ . 

(4) Find [ ] [ ]|  and |E X B Var X B . 

 
2. Prove Theorem 2.15 in the text. 

 
3. A random variable X has PDF 
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(1) Find c. 
(2) Find the CDF of X. 

(3) Find 1
2

P X⎡ ⎤<⎢ ⎥⎣ ⎦
. 

 

4. Text Problem 2.10.5 


